2022etHE ==MY U™ (XIAHA) | 2 E&tx} 45t
_JI\_

A = = &
T s d S ¥
o o o o
108 2YU(E) 11 20%'(5) 118 212(®) 118 229(E)
N CH 227 3
o M| CH 346) 7t= 28| oloiak20%) 1030~ F2l=2 428 R (:li He °)7H wos 23 3 5 ol A2l 3579) Meatstz|ay
i o = = S 4 52 s 5 "
S 3 =,7(00H,715h,38,142) 5 371 89 S5 & 4 O|H P :7_[ 3h E}__FLOE_,}EO :POEI) SEAE - 09:00~10:40 10:00~ / 15:30~ 23t (100%)
XA E: 09:00~11:30 (1502) =2 70%, SHAEE T3t 30% T: ; (& oee Xt apst MM 7| 45, A E A - 13:00~14:40 A=x|x-|7|.’.<. ole
£3HE0R), THEH40R) =t > = == 70%, e uit 30% N = - BAS
sl A 2 ME AT wx . Xpearst SSHAIE: 11, 212(2) 10:00~ ofsh A= Egof Bt | Hto|2MC|ZE - 16:30~18:10 =2 70%, SHME @It 30%
EAAX T VHRS A9, N SEHN BN ) sS4 es13) 24@0/5,718h,32) 5 270 S22 40/, Yof 252
=R = 2l oj0i2H(12%) 09:30~12:00 U _ OFSF uhe | 4z 2 0f 2 g
olof: 2ok Xolof: 10%, ottt 5 ~ XHACH, ITCH 09:30~11:40, 2 NS 14:30~16:40 OFSh Ht = M| AT EQ o ZHHH F( Sha(1) s 3 11 ZGOI(:I')
P 1?°' TS5 = FOH7I8H)B,2QR) T 471 B & 582 OIU 2 A0|H,7|8h,2HIHE) 27HFY S28 70| | =T 22X+t 12H(B1,31,41 F 17H) = ==
Ah_ﬂ;_x;_f__s:xs.‘-x _._% A 5 A =
. I 1°| HEH ¢ TElES: 3008, olst=E: 3008 =% 60% SHYE DI 40% =% 60% SHUE DI 40% o M| CH (o )
=% 100% =% 60%, SR it 40% o .
. SHR ST (179%) A3 501Y) 4=z |62} (14:00~16:00) (15%)
Z o — o Az‘:‘}um oh 1IEH T}EF) =
MZt169) HZox U IAZAAYD SRR T A0 | HAHE MBI AT E0IZE@AY) 09:00~11:00 | 3ok T ':;7 o6, e, ez S
XS HAFEHS T HS - 1:00~14:40 ECE2Z AXEFS 23HAH Y 10:00~11:30 o| njcy st Al Z H gk okstr st 7ks (M 27) 09:00~11:00 374 }13u 0|4, ?01 2=
* [ = : ’ A8t 20 x qfs 22
2}3AE S 718, =22% - 16:30~18:10 271 "o S22 60|L (1) S 2} 350%) =2 = 22H, rﬂ 22H
MM 0CH (180%) FAYEM 5 370 B ST 6 O, BN 45T | ATEYO|YBNESRABLY 1500-1630 | xroim 09:30-11:00 =El( L S
=2 gno, BHAHE TIF 109% H o do =33t 50|LY(E == : MENEHI,O) & 17fuats ME
XA 05 =2 80%, SHAE Wb 10%, Hlmat 10% 27f Y Sa¢ 50ILH(E) ALH. 2 (1) E 274 B E2% 5 ol
ot o = 70% 8% 23t 30% e CeEE =% 100%
R Sal=g (1002) 23|t s01%) ' ofsinh 3 @9 SJ 4 ol
2BAE) 40 BAF 274 Bl S 70/ ool lolal Bt al e M2 04 (1202 EE 70% SR DI 20% FZ 10%
[ =] -00~17-
=2 70% SHME 30%(@a490, SA:10) :|01| |21, ._;|01I 2l aeh=g  15:00~17:00 = A HI( ) ) EFR LY (330%)
ZUYEHTY), SSISYEHT)  15:00~17:00 %%l.#.%m) 3 20 9% & 753 ol sl s qLAim Ao onre | etR7|EnCH219%)
2,5018,715h),8,2t(1) § 271 S5 501, =& 70% SHEE It 30% U=oHE, ERSE NEAS, 2TEQ 0], RHIAIAY | & S
N Aloi=OF Slskm kD 10- 7 FIEZ YA MI|HMAEA
{0l BrolOf, 12{00: 3401 H 1B, 1) B AFA | o o e TEE SIS, i 1000-1200 A= 2SS A
=33t 40|y, SH2AF 5S 20| St ChErica(194%) $al=% AT 7|, 4 BE HR2EH,+1 15:30~17:30 10:00~11:40
| S A It = (o] ]
108 9Y(E) =2 70%, SHAEE 30% A, MEsteE 7| A2 Mg AG ML 28 | FEHXIIE: QIS S5 nab 30% =& 70% ZAFH DI A A S O A K| AT, A
= ke " . = 00~ 15",
HRCY435%) 23 aste=a S8t 10:00~11:30 =14 0 Ll (105%) 14-‘(_)0 15:40 _
o HE AN D8 ATEQYO,ICTEY,+8, 82,24 | 2 g2 el) = 270 B E3 o 70/L *—"IWI": s
XHAY 1500 =2 100% o :'_%,O,T,l:l(‘]) Z 20 Y9 S5 & 70|LY
MEA B 779 == ° Y L s g et 2teh 14:00~15:30 20h Za Al 27 ¥ =2 B 80| =& 70%, SPYE nnt 30%
N . N =,0H,715h,38,1t(1) 5 271 S5 & 5 LR =2 g0% SHMETI 20%
:l_J-I'EHOF' 10:00~12:00, xl'gjl-l'ghiklﬂl'gh 15:00~ 2'01' q-,_'_(jl.)’olJ_I.(-l) H %E. 6|="|- 4
=5 70% + TS wit 30% 11°J 27OI(E) 11.?é_| 28°E|(°EI) 12% 4°EI(E)
FEl=g 42E(&FsH T, 30, SE5A, vHE) '6I'_|-%>FEH( 57|:r|) 2= (7|8tET I_x H
*SEXMI|E: AS N N - | OFFCH(187d
i S o1) S0l @472%) xAAY (15:30-17:10) U= ALY NS BE3 7L AREAS UYS B, | ﬂ( O)"}
SolNs AmEQO] ARl ol xielok: 371 e S 0| ETATE) | MR AL MUYTS, 2B 09:45~11:15 SHCHS, KIS 09:00~11:00
S, £EEH0, Y= 10:00~12:00 - ' 7| AA AL T) SFSE A 7| A3t AT 13:15-14: HALE, 2EE9 0| 14:00~16:00
ofstel, o|3tE  14:00~16:00 Fol0): 37§ o ST 50/L A7) A, AT Bk 8, 7| A, S =1 13:15~14:45 DATS, =EER : :
OFSLR, olBE 14:00~16: - > S XL ZFE 0 4 X| DI} XS X 17:00~18:30 o| BtcHet 19:00~21:00
= . . - P ICII‘Ioﬁl-—I—"I[ 2t - 37 ¥ S23% 80| BaLMTTTH, ' S
£l 389%) A, HOlCTRI I MY B a3 1800~ | DS 2T 1 89 53¢ eold ol0f: 11/27% 17:00~18:30 +5HH7IE: 818
A0l® 718k of Tk = ool 23 3 ¢ olLl =5 70%, SPEE Wt 20% £Z 10% = e =
XIHAE 10:00~ (1208) =,2(01&,715h,8,2K1) & 37 Y 55 & 6 O, AL oy L2 g0y, SHME I8 20% olstal: 2@ 7|8h Y a2 =2
2 4:0|™,7|6h,9,3k1) S 37 ¥ S2E 8 o|u olstofst = 4=(01H,7[%h,3,. 242 T 47 Y S5 5 0|3}0{CH(330%) 2al=2 & 6 oLy
=2 90% SHEE M 10% =% 60% SHME Mt 20%, Hl@It 20% A1 201 X, 7|8h, ¥, 3H1) B WYY ST ol | HET W 20% =F 80%
Hel: %, £5 1, =510, 0", dEASA, 7/t AQHET 20N 7|31 = 37 FY E2 B 5
.T'.I-_?_E 1879 StME @ o, == 709
N II( ) BT 414%) < LL} 30% =& 70% 129 5¢(Y)
?EIXPI" ol XHAAIE (09:30~11:10)
c e = AB T s Amqfst 4 5 2B}
22 70% SERT 30% ZA0OE713h S 3H0) F 4 23 27 4 "*"_ﬂ* *°°ﬂ* "“‘*"53 (0941 ~114) QIS (485%)
532 ¢ 50lL, r-;w 45 20|LY LEEY 0 (14~16A1), SAUTHEL (194~214]) ASETI|E: OjHE
- > EN dg =3 3t o™ :
=2 707, BHME D 208 DI 0% z;;g 7r'°“;/°'*“l) 7?5;7“ 89 3 FOI S oM o gak 24015015, 2.310) 5
E1EH[A-|| 1417%F) eT nat 30%, == 70% ) W 2 123
oksta}: 15:00 ot MU 7| =CH265%) PP
eré—?ﬂl' i',‘l',o:. J-I-I'(Z) % 37H ngll %EE* 5 OILH -f—% |X-| |-||_- gz% |_E 70% E,_'||-A —‘f’— j|_|. 30%
=& 70% SHEFnat 30% = 80%, STHFLI 20%




